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1. Sc. (TH.)
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el WYl St WE&AT : 70 + 20 + 6 = 96
Total No. of Questions : 70 + 20 + 6 = 96 Total No. of Printed Pages : 28
(777 : 362 15 Q) (quit : 70)
| Time : 3 Hours 15 Minutes | [ Full Marks : 70 )
getenerat & ford e : Instructions for the candidates :

. Gty OMR I9¢ YAF YT AYAT 1. Candidate must enter his / her
e s W FHIH (10 3iHT &) Question Booklet Serial No.
g ford | (10 Digits) in the OMR Answer

Sheet.

2. el a9 WE'? # & 2. Candidates are required to give their
FT 7/ answers in their own words as far

as practicable.

3. el e gfird w ”RE 144 3HF EW[?T 3. Figures in the right hand margin
fffe #id &1 indicate full marks.

4, gei  #l RTF(W ti'a?# & o 4. 15 minutes of extra time have been
Rignfrat 1 15 fire F1 AR T allotted for the candidates to read

fear mar &1 the questions carefully.

S. 48 m¥q 5’@‘1’%’7 gl @vel § § — 5. This question booklet is divided into
GUs-3f U9 GUg-/ | two sections — Section-A and
_ Section-B.
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©veg - A / SECTION -A
TS WY / Objective Type Questiong

yo @A 18 70 7% & AT T & 6L AR B R 7 § ot

: T wet
a7 grT g7 1T W AFT FOMR Vi W RIfgT a1 frf a5 gy ’

& ITT F;

Question Nos. 1 to 70 have four options, out of which only one is correct, You haye ¢
; . 0

mark your selected option, on the OMR-Sheet. Answer any 35 questions.

35x1=35
(. Fdl meam @) i RIS ( e, ) B 8
€
- (A) —" (B) EXE
¢ =g
The relative permittivity ( € _) of a medium is
) Ei B) exe,
0
© e+ep D) e-g
2. U fag MW g @ T W Ferga-fava &1 w g @
1 4 1 g
(A) dne, T B dney r2
2
C q.r -
= 4r e, & dne, r
The value of electric potential at a distance r from a point charge g is
A l_ 9 .
A 4nEﬂ'r _’{‘1_3']__ 4”'50'1'2
2
o 4 1 g
B Ine, D = € T
< ——————
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3 ade 1 gO-ue SRR B ¢

' T STy
gy = = - (D)
© g s I AR « B sy
Surface density of charge is equal to
(A)  Total charge x Total area ()  Jotal charge

Total areg
©) Total charge :
Total volume (D) Total charge x Total volume

4. Ol 1 RORH RRiE @ g

(A) 80 : (B). . 60

< 1 _ (D) " 425
The dielectric constant.of water is
(A) 80 (B] 60
€ 1 - (D) 425
5. R =t gt &) PR it
R E '
(A) ey (B) 4negyR
© = D) 4ney.R?

Electrical capacitance of earth of radius R is

" _
A~ A (B) 4ngR
dn e
© =2 D) 4ney.R
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1 e &
A _ (B) 1 A x 1
| (A) 1 .éa’-ug ﬁ%ﬁg
1 3
aee x 1 AA D —=
© 1 . : 1 giee
One ampere is equal to
1 coulomb (B) 1 coulomb x1 second
1 sccond
1 oh
(C) 1voltx1ohm (D) I‘:,o:?
7. P s o B TR ©
Ay A (B) , o VI
© @R (D) e i T
Unit of elctromotive force is
(A) ncwion (B) joule
(C) wvolt (D) newton/ampere

8. ¢t THY dF URT ] % JeE & RO R SRy % e § S S A ¢

Ay I.R.t B I[.R%.t
e IR (D) 12 R2.t
The heat produced in a conductor of resistance R due to flow of current I for
time tis ‘
A I.Rt ® I R2.¢
© 12 R o) I12.R%.t
l- .1'17 | A llA}-QODI-A{:*.; Page 5 of 28 -
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9. 5 tesla (26eN) w1 GAHN &8 WA ey &
LT ;
(A)  Sx I
)2 (B)  5=x10°
) (1z7)?
W
C 2 .
(C) 5% 10 (Iﬂz'{)z (D) SRIOZW(IﬂZT)z
Magnetic ficld of 5 tesla is equal to
(A) 5 x Weber B S NODEE
105 XX
[metre]g (B) {mctrc)2
(C) 5x10% weber (D) 5 x 102 weber x (metre)?
[metru::}|2
10. WeAE WRT ® rm.s. §F (1, ) AR seEd v @ R aw= (1) & 99
Ty g ¥ \
A I, =0505] B I, =0606l
(C] ‘rr.m.s. = 0707[0 (D] Ir-m.s. = (-808 I.o
The relation between r.m.s. value of alternating current ( [ ) and peak value
r.m.s.
of alternating current (Iy) is
@) I =0505I B) 1, =0606I
(CJ Ir.m.s. “QTor IO [D] Ir.m,s. =0-808/o
11, @i g o o et ury oRwy A L e A R R I R
gfeee 1 A1 &l €
s
w7 & E
L
© = S
[ 117 1A [ (A)-9001-A@y) Page 6 of 28
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Inductive reactance offered by an inductor of inductance L in ac circuit of

angular frequency o is

(A) % B o.L
1 L
@ I L2/

12. mﬁﬁquﬁai&s%rqﬁm%ﬁaﬁﬁaﬁﬂmuﬁ% ?
(A) ﬂﬁﬁW%WWwﬁﬁxwﬁFﬂWEﬁﬁ

: Tt
o o T

Tee} Arex Viih
€ W e

(D) m%gmim%[mmwwﬁﬁxaﬂwmww%]'

~ Which of the following relations is correcf for power factor ?

//]_,,Power factor = True average power Apparent average power

Apparcnt average power
True average power .

(B)  Power factor =

True average pOWer _
Apparent average power

(C) Power factor =

(D)  Power factor = % [ True average power X Apparent average power ]

13, FETTRMSFR TS ASHATE .

A) 3 | - B 4

C 5. , (o) 6

Value of green colour code on carbon resistance is

A) 3 B) 4
_© s - (D) 6
1117 ] A [(A)-9001-Ap)) .Page 7 of 28
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14. qmﬁﬂéﬁﬁﬁ?ﬁn@nﬁsﬂﬂamr(q)waﬁmﬁaﬂwm?

- - - - - -
- = - -
- B xV = |V xB)
(€ Fm='(__"}_ (D) Fn= q

—’

Expression of forcc on a charge g moving with velocity V in a magnetic field

—3
B is
- - - - =
W Fy=q(VxB) B Fp=a(BxV)
- - =k =B
= (BxV) | , = §.
i) F,= == - D) F, q
15, ZwiR & o Pl d e w g2
(A) @ A.C. & D.c.H wew @ '
(8) % D.C. T A.C. T TN §
'(© 9 D.C. divedl P sew a1 HeT @
(D) % A.C. aleeal il Sgral a1 Ul §
Which_ of the following is correct for transformer ?
(A) It converts A.C. into D.C.
(B) It converts D.C. into AC.
(C) It increases or decreases D.C. voltage
(D) Itincreases or decrcases A.C. voltage
16. YR YT Ve H1 S.1. AEE €
A) N : ' - L
(A) | | (3]_ =
- : N 3
i -
1 117_] A @}-‘9001-&311 Page 8 of 28
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17.

18.

19.

e,

S.1. unit of magnetic pole strength is

N
(A) N (B) g
©).- Am .oy Am
g?zﬁ%‘qﬁaﬁagammﬁ“laﬂ“ﬁm%
A) ©O° (B) 90°
(C) 45° - 5 (D)  180°
The valuc of angle of dip at magnetic pole of the earth is
a)  0° B 90
(C) 45° (D) 180°
fata @1 g g &1 A 8t &
(A)  0:5%F G (B) _ .34
Q) 1F W - (D) YA

The valuc of magnétic susceptibility of vacuum is
(A)  cqual to 0:5 | (Bl infinite

(C)  cqual to one (D)  zero

FrEhviterdr (u) % feg frefefea o wF wEy W@ e 2

x|

(P_nl p=% : B) p=
€©) u=B.H (D) p=(B+H)

Which of the following relations is correct for permeability ?

H B
© w=B.H (D) w=(B+H)

[IITIAIM Page 9 of 28
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20.

e A § i g & B, T B 5, B e wew By 3
B I 3T 9eh Bvﬁa}ﬁﬁﬁiﬁﬁﬁm’haﬁ%?

(A) B, = Bcosd (B) B, =Bcos

(C) By =Bsind (D) =~ By = By sind
If B is carth's magnetic field in magnetic meridian, § is angle of dip, By is

’ - = ;
horizontal component of B and B, is vertical component of B, then which of

the following relations is correct ?

(A) By =Bcos /Ls_pif B, = Bcosd

(C) B, =Bsind (D) © By =By sind

21, foa-gramra @ & eRoT @ feen el @

A B % AR B B % WEW

g - -—r y -+ = g
(©) (B x E )% §HIR (D) (ExB) % @i
The direction of propagation of electromagnetic wave is

- " ' . -
(A) parallelto E (B) parallelto B

- = - =
(C) parallelto( B x E ) Jp,,l/—"parallel to (E xB)

22, were-ay feg sife af¥T & AEE 8 2

@w S
© F=i | (D) R
[117] A.. (A}-9001—A[ﬂ] _ Page 10 of 28 -
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w}/ Distance (B) Time

(C)  Energy (D)  Intensity of light
03, U U QIR ¥ 1 gan wfafw g &

A} FreaE AR e (B) ®AF 3R Ieer

() ariae 3R dh (D) S 3R I

The image formed by simple microscope is

(AL~ Virtual aﬁd erect (B)  Virtual and inverted

(C) Real and erect (D)  Real and inverted
24, I 9 g1 FAfeifaa § siF-w1 3fe v Y fem e & 2

@ Frere-gfea (B) T-gfeear

(C)  SRI-gRRIrr (D) fEgwEar

Which of the following eye defects is removed by cgﬂvcx lens ?

{A) ﬁearsighteaness | | (B) | Farsightedness

(C) - Presbyopia (D)  Astigmatism
25.  ui-faeiger sar & ferg Frerfofaa & 9 da9 W E 2

A  weleThr LB wel, -y, - )

My —1
By, -1 ; Hy B
(C) =Y PO .
i =ru - B} w1

I nz IA “A]'QOOI"AHI}—[ Page 11 of 28
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i

28,

Which of the following relations is correct for dispersive power ?

(A) wﬁ'% B) w=(p, —#)y 1)
T -
© wetrT D westE
' B Po~ R ; By~ :
26. fata o et 1 A ¢ ¥1 F (u=3/2) T TGS AA M
. 2
@ 5 B 3
4c - c
€ e ' | 1) BT
Velocity of light in vacuum is c. Its value in glass (u= 3/2) will be
3c l 26
w 3 (B) 3
4c L
< = (D), "5
27. WM GG & Rl @iietd gevie @1 onas gt 8
Ay LT | B} - xS,
(©) “—;- D) f,+f,
e C .
The length of an astronomical telescope for normal adjustment is
A f,=1, - B fox S,
@ & DL S+
I _ X le- JoTJe
T W w1 & i ¥ O B wed g e g &
(A) 1 mm "B 2cm
(C) 25 cm (D) 1m
[117 ] A [(A)-9001-Agy)|" Page 12 of 28
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Focal length of eye-lens of a healthy man is about

(A mm : (B) 2cm
[t S0t ) - i
29. mﬁmmwwmmmmﬁmﬁﬁm% >
(a) R | (B) it
© TR o

Interferepcc of ligh'_c is the redistribution of which of the following physical

quantities ?

Mrcquency (B) Intensity

(C) Wavciength : (D) Speed
30. A i feRmH-geHH CAG IS

(A I (B) @A

€ 91x103kg (D} 16 x107%kg

The rest mass of photonis ) ;

(A) Zero (B) infinite

© 91x103'kg . DL_ 16x107kg
31. &R @ iy vid gt @

. o
(A) B -E,=3hv B B -Ey=hv

(C) E, -E,=3hv (D) E -Ep=3hv

Bohr's frequency condition is

W  E-By=ghv (B) E, -Ep=hv

(o) I ) ; E, -E =3
| C) E -E,=3hv (D) 1~ Ex =3
1117 ) A [(A)9001.Aay]  Page 13 of 28
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32. R e & & g €

A)  fvewig faEves (B) Uramafm sfufwar

(©) Eﬁﬁﬂﬁmﬁaﬂm .(1_3] A dea

The source of solar energy is *

@/" nuclear ﬁssion

{(B) chemical reaction

(C)  annihilation of elementary particles

(D) nuclear fusion

33.  Tg o1 G oroT W Prefad § A Y 2
W @R | ()
(C) | (D) S

Which of the followin-g- is the best conductor of electricity ?
(A)  Silver {B):  Copper
(C) Gold (D)  Zinc

34. NOR-ER® I Sfora o/ giey &

(A} A+B=Y (B) .B=Y
(C) A.B=vy (D) A+B=Y
Boolean expression for NOR gate is
(A)  A+B=y ® A B y
C). A.Bay T
| o _’LD_L A +B=Y
7] A T@arovo 3] Page 14 of 28
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35.

F-FURI 6 1001), F 0w WE wt 3

@) (12 (B)  (18),,
(C) (Oho (D) (2s),,

The decimal number of binary number (1001),is

(AJ HQ"IG (B] ﬂshu

/4(-61" (%ho (D)  (23),

A o oA o
X ¥ o -§9 F=eiad 3§ Hend AT & ?
Z

(N-QOOLA{NI Page 15 of 28
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36.
. M A « B TRy
- ; P,
(A). A z=2 2 4 Z z+2Y i 2 He
A A+S -+ A A+4 4
Y + X—
(€) & X 25 5 He (D) z X =+2Y F He
A
Which of the following represents'the a -decay of = X?
A A-4 4 A A=l 4
(A) X—> Y + He (B) X—— ¥+ _He
z z-2 2 Z z+2 « 2
A A+4 r] | A+d 4
(C) X— Y + He (D) X— Y+ He
¥4 z-2 2 Z z+2 2
37.  FEiiiEd S Hied F1 T E 2
W  =EE - (B) WeH
G (D) TRH
Which of the following is not a fundamental particle ?
(A)  Neutron (B) Proton
C .
9 a “Particle (D) Electron
\\\
‘1773



. -
“Fﬂw%%uﬁr:{%ﬁaaﬂaﬂaanqﬁr-m%?

A 303001 (8)  30-300 kHz
' (C) 30-300 MHz (D) 30-300 GHz

Which of the following is the frequency range for TV broadcasting ?
A} 30-300 Hz (B)  30-300 kHz

G —30-300 MH- .. (D) 30-300 GHz

39, :

ST B w5 for Frferfiad § i T @ 2

(A) g?ﬁ"ﬂﬁ (B) 3

(©) tffR - D) @

Which of the following units is correct to measure attenuation ?
(A)  dccibel : : (B) ohm .

(C)  ampere (D) volt

40. UF p-UHN E-TeT A ¥

(A) RN
() vmfmE
() IFAEfE

(D) WRH ¥ a1 9 RN Afe I=g aeEEr 1 v

A p-type semiconductor is
(A) - positively charged
(B) ncgativcly_chargcd i
(C)  uncharged

(D) uncharged at absolutc zcro temperature but charged at highcrj

tempcratures

[ 117 ) A [(A)-9001-Agn| - Page 16 of 28
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Fregior ] 3 YeIR e e i g ¥

41.
(A) h ' B h
C ( ) 2
h
©@ 2 - o £
The minimum orbital angular momentum of an clectron in a hydrogen atom is
A) h . B A~
f. B A
h h
t/c')/‘ 2n (D) 'x'
4g, R SO THT] Y GarTehdm gid &
A) 3 B 4
C) 5 (D)
Donor impurity atom has valency |
A) 3 (B)
(€} 5 (D)
43, SeerdieX HIGaT 2
(a) wfae - B) fava=R
) um (D) ¥ & HE T
Voltamcter mcasures
(A)  resistance ' ' (B)—- potential difference

(C} current (D) - none of these

44, | _sromea e

i ‘hteu
A/ 9x10°Nm2c? B 9* 10" ?Nm?c 2
€©) 9x10'2Nm2?c™ | D) 9* 10-"2Nm?3c™
(07 - —
T1A (A)-9001-A@n | Page 17 of 28
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The value of 1 is

4n €,
@A) 9x10°Nm?c™ B) 9x10°Nm?c™?
©y 9% 10'2Nm?c™ y 9 x 102 Nm?c™?
45, FrefenEd § @ do w1 E 7 |
[l o : -
=3 F - -3
W E=7 B) E=qF
=4 = 1.8
© E_-a» (D) E-4n & 2
F F
Which of the following relations is correct ?
- ;: - -
(W E= (B) E=qF
3.4 -1
) E== W .27 >
F F
46, Torega-fengd SRR FGI
9 | B £
A B 7.
C wg D) e
‘Electric-potential i; equal to
LB | | B =
w = B) 3
(C) wq (D) Jwa
47, e feym-amgel @1 S.1 HAH g @
A)  cm B) cm®
€ eom™ * (D) cm =
B ——-"'-—_-—-—-_.—-_F
[ 117 ] A |(A)-9001-Aey Page 18 of 28 -
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48.

49,

0.

., o}

i
%

B °

17
21 A (A)-9001-Apy] page 19 of 28

S.I. unit of electric dipole moment jg

cm
(A) } . : (B)  cm?
{9’" cm | (D) cm -2
weh HE (F) SR Blar &

1CV
(A) ) (B) 1cy-
€ 1cv D) 1cv?2
One farad is equal to
4) 1cCv B 1cv-
(€ 1cv2 ' (D) 1¢v?
eI =R St Rl St @ &
&) cov? B 3cv?

B _

© o . BA Ve
Potential energy of a charged _conductdr is
a) o2 B zCV?

1 | ; ;
©) 1 _CV2 (D) . cv?2
St 1 (e ) & oot 3 forg Frfa 3 e & 2
(A) alptly G e = ;F”

2
1}
(c oo L
) p 5 .

Which of the following is correct for refractive
Colour ) 7

[y
t&] = p‘r +|"'v {B] ].l = ——r--E-J""
H -_T-
K
© ¥ D) k="

by:BSEBResult.In
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51, THIK T e S $) ugl & 3k gl &

(A ¥ B) A
(C) 100 cm (D) 10 cm
Power of parallel sided glasy-slab is

_,(A}"’a infinity (B)  zero
(C) 100 cm (D) 10 cm

52.  @IVNg Avi-fAeIqu SR € 8

(A)  (n,=n)A B  (p,-»)

C) (n, +n,) (D) (u,+K,)A
Angular dispersion is cqual to

(A, -un)A B) {n,-n,)

©  (w,+n,) (D) ¢l +1,)A

53, el guEel % ferg fAmfafea 5 %M W ¢ 2
A vasle By JSo>J,
| Lk D fo=<,

Which of the following is correct for Astronomical telescope ?
N Sf,=1 B LS
€. J,</ fDl Jo<<te

54, FAH ¢, B AA A E

w A (B) 3

© 1 (o) 9x10?

The vallnc of €, in air is

N zero (B) infinity

© 1 (o) 9+ 10”
(117 | A [(")-9001-Aar) Page 20 of 28
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55.

56.

| W-wﬁ'ﬁmﬁﬁﬁwmmmwmﬁm%

W e

| @ 1
(©) %‘;- T
The value of force acting on a charged particle in clectric ficld is
(A)  qE @ i
©) :’3 D)  JaE

R e
\ €

i & B 5
| 2
o =

€ 2C _

ctween A and B inl figurc is

Equivalent capacity b
o s c___ 5
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Which of the following is the S
(A} — Potential difference
5

(B)  Current t
(C) Both Potential difference and curren

(D) None of these

s8. TH eI SR Eel &
10°mH
(W  10°mH g
0 ®mH
(€ 107°mH L
One henry is equal to
6
(A) 10°mH . B, J0TE
& o (D) 108 mH
1
B I,= o.;931 e 8 G0
: 1
© T, =(0-6931)2 B L=
Which of the following is correct for radioactive element ?
e T .
(A) | Ta = 576931 Sl S
(C) T,=(0-6931)a Dby T,= %
A
60. TrfefEa § 9 @@t & 2
A —
(A)  (1100), = (12),4 (B)  (1001), = (12),y
© (111, =02 '
| (1111), = (12);4 (D) (1011), =(12),0
Which of the following is correct
jﬂ/ (1100), = (12),,
(B) 1001), =
Sy (1001), = (12),4 :
117 ] A [(a) C Ot maak, _,/
-9 E -
%. Page 22 of 0g -
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61.
%ﬂz%mﬁmﬁﬁl —

A AND, OR, NoT

(B)  AND, o
(©) NAND, NOR , OR

(D) OR, NoT
Which of the following i correct for fun

(Al— AND, BR, NOT

(B)  AND, OR
(€} NAND, nOR

damenta] gate ?

(D)  OR, NOT

62. ﬁq%ﬁgﬁﬁ'ﬁ?&ﬁﬁmqﬁg,

(A) (B) o ~h0T
Which of the following is not charged ?

(A) Photon s L (B) o -particle
(C) B -particle (D)  electron

63. HIEA IR T TT-hig H el T ol | &l §

(a) 1 B 2
c 3 (D) 4 | ]
The value of yellow colour in colour code of carbon resistance
B 2
@A 1 o
. (c) 3 7
64. qmﬂia%gﬁaﬁm%ﬁmﬁm’f'ﬁfﬁﬁﬁﬂﬂaﬁ% L
(Bl P"RA
(A) p= %’1 _
© b= —1% e |

Au7ya
by:BSEBResult.In



istivi material ?
Which of the following is correct for resistivity of a

L
RA B) P=RA
/(A)/ ===
= A
RL (D) p= R.L.
© prP="z
o5, fawE-MavTEl et @
- gx @) dx.dV
G 17
. oav o)
© g
Potential ;gradient is equal to
e B) dx.dV
@® I (B)
(C— % (D)  None.of these
66. fore WorRd @1 S.I HE ©
() am-ARR B) THRER-HI
€ dre-HiR D) (d)(EkR) -
S.I. unit of electric flux is
4 CHOBEISEE (B) ampere.metre
(C)  volt-metre oy (volt) (metre)™!

67. HIY Q:rhw ﬁﬁﬂ%@ﬁﬁﬁ? n T HH 6 6l & ?

S (B) 8

S DO 100

Which of the following values of n is not possible in relation Q=ne ?
A) 4 o B

© 42 | o

*" - 117 - - : :
Tl‘ 13 ] A [(A)-9001-Ap Page 24 of 28
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68. i '
U FHICR gt i &) wifey o tent Svitfentrart if wher a0y 3 5

: €, A
A 0 .
(A) 3 M) « d
A
- A
€, A - (D)
: : €y d
Which
ich of the following is correet for the capacity of a parallel plate capacitor ?
€, A
(A 0 e, d
- m e b
C d o
© € A (D) E: 3 <
59.  Terep-afkasr 3t wift et 2
@ v.R B Ve
v? . '
(C) = : DY V2RI
Power of clectric circuit is,
(A) V.R : - (B V2R
. | _
'.LG’, 7 | (D) R.I.
70, wifkca s g €
w . B/ -
(A) c w
1
€ w.c D) e
Capacitive reactance is
: ¢
w B w
(A) s "‘1’
(D)  we
€ w.e ”i/__
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T'Tq?ﬂ'ﬁﬂm / Short Answer Type Questions
18 20 77 397 & | fry mrmi‘d'aara“fm%z%(rzafm

; . 10 x2 =
iur:j:; :::k: :Io 20 are Short Answer Type. Answer any 10 questions. Each qfest;iﬁ
10x2=20
1. ft qde I \%E;H TR Ry 3 .
Define electric flux on a sy rface.
2. FEsR fava i uftam 5
Define magnetic potential.
3. e Ft R § 39w wn b ? 5
What do you mean by capacity of a conductor ?
4. ISR F AT v Y ORI 31 gk s iEe e e 2
Definc volume density.of charge. Write its S.1. unit.
5. [l ®H W & SRR A9 0T 319 T g € 2 2
What do you mean by apparent a.nglé of dip at any place ?
6. X @ g o) 2
Write Brewster's law.
7. Wt ST S I e w6l wl o | 2
Write two essential conditions of constructive interference.
8. A $ wH &Hal @ 39 F1 AW & ? 2
What do you mean by power of accommodation of eye ?
9. m%qﬁaﬁﬁmwﬁ##fmaﬂmﬂmwﬂ?ﬂﬁﬁl 2
Write necessary conditions for total internal reflection of lig}}t..
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10.

11.

12.

13.

14.

15.

16.

17.

18,

19.

20,

e Sl Y T @R 2

What do you mecan by Paschen scrics ?
dfter ( p) Fott 3 1 it i ferd

Write two properties of beta ( f3) ra}rsl.l _
n-THR & FGATH B A |

Explain n-type of semiconductor.
NAND-ER® &l I |

Explain NAND-gate.~

Y Aige =i TR |

Explain frequency modulation.
Tr-Ae e @t o |

Write Biot-Savart's law,—

forpa e AR =t wHeE |

Explain electrical resonance.

-

ZERTR A 41T Rl A |
Explain copper-loss in a transformer.
AR-d1 = IHA |

Explain solar cell.

FETF W 39 1 I & 2

What do you mean by semiconductor ?

et Y I W |

Explain secondary rainbow.

[T7TA o] e
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< Iwdg W / Long Answer Type Questions

W WEr 21 @ 26 34 gwvtw wvw & 1 Gl s wet & W § 1 94E & fow
5 aaar‘ﬁvfﬁr-r $: 3x5=15
Question Nos. 21 to 26 are Long Answer Type Questions. Answer any 3 questions. Each

question carries 5 marks : 3x5=15

21. mﬁﬁm%faqﬁﬁﬁmgmqa@ﬁa#: 5

1 1 1
=y =1) | s

P } (Rl Rz)
Establish the formula for thin lens given below :

1 1 1

—=hu-1}) | —-—

F U [Rl Rz]

2. UYW YEURH @) e el % forg e W i)

Find out the expression for magnifying power, of compound microscope.

23, %ﬂéﬁqﬁﬂ-ﬁtﬁ%mwfaﬁgwﬁtﬁﬁﬂa#mwﬁaaﬁl 5

Establish the expression for electric potential at a point due to a small electric

W

dipole.

24, nmm?ﬁmﬂﬁaﬁquaésﬁmmmﬁﬁ’n

w

Find out an expression for root mean squarc value of an alternating current.

25. mﬁ,wﬁmmmmﬁw@m. 5

Writc propertics of diamagnetic, paramagnetic and ferromagnetic materials.

be eiifia T @ ar-ay S SR S J A T § 2 Yeanfea w

?ﬁi%]ﬂﬁﬂgﬂﬂj(ﬂ:ﬂos'“]wrﬁﬁﬁl _ 5
What do you mecan by half-lifc and average life of a radioactive substance ?
Establish disintegration formula (N= N, € e M ) for radioactive substance.
fagre ¥ & Fafda @afl waretd,
ﬁﬂ? Wea U, ,uaﬁﬂz
e :
— = mﬂﬁmﬁﬁmﬁaﬁmaﬁ
: UES U & RT...
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